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< 1,520
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A= as 965,536 869,523 96,013
= 116,672
< 1,520
Al 847,344
NeEHE=S 965,536 869,523 96,013
= 116,672
< 1,520
Al 847,344
ANeA=s 508,784 410,275 98,509
101 @14l 16,395 26,321 A9,926
04 JI2ZtHZ22HEE =+ 16,395 26,321 A 9,926
OXNEASAH S MU GE A2 16,395
iR 69,7603 x 1 x186 12,976
resgdsd 69,7603 13 402 3,419
201 Let24d] 213,824 213,906 A82
01 At 22/l 103,780 103,380 400
OXNEMAEL DXMH M ZE 27,000
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OXNYAN DEZ_IHI 225 wA 5,000
OXgAH 222 A 220&=10,0000H 2,200
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303 T2 6,000 6,000 0
01 Za3z 6,000 6,000 0
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A 222 58,700 50,250 8,450
201 Let249y| 50,500 47,000 3,500
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2AM: HE D
2 ST At2e

SRl T Atz (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

04 JIZHHZ2XREES 16,395 16,218 177
OSKRME MEHZAL HREX 16,395
2= 69,7603 x1H 186 12,976
e84 69,7603 1 492! 3,419

201 -4 3,470 3,470 0

01 At 22l 3,470 3,470 0
OZB"/Me &oAAE 70,0003 +7H +33] 1,470
O=2l 8,000& »5H x50 2,000

301 LEAZ 6,000 6,000 0

09 HALAHIX &S 6,000 6,000 0
O2&E JIZAL &HI2Y 6,000

S3E Az 1,486,882 1,382,717 104,165

101 @124l 1,442 3,017 21,575

04 JI2ZtHZ22HEE = 1,442 3,017 A1,575
OJIZHZ=2XRHSES 1,442

80, 100& x6H 33| 1,442
201 Zer24l 872,640 977,200 A~ 104,560
02 3324l 872,640 977,200 A 104,560

02323 % HAl 634,640
NLEA HH=7 SH 232,000
aot=E AIEZ 36,740

- Al EA 23,000

- 23 EAM 5,000

- 233 85 M 6,000

- )Y FH M 2,740
A EIIRS 335,600

- Al EA 240,000

- 213 FEAM 70,000

- 288 25 M 18,000

- )& A 7,600
OIS EA HtE HARS 20,000
TS XHAl 3,300
SINERGES 1,000

- UGS 1,000
FAtE 22l s+ 2 1,000
Asx 282 5,000
OA£ &l |XH 173,000
Al B A 140,000
°|3 A 33,000
P =il 65,000




2AM: HE D
2 ST At2e

CHRl: THAEZEE (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
206 M = Hl 20,300 22,500 N 2,200
01 X2 H| 20,300 22,500 AN 2,200
OMZdl 20,300
HAZE JIHAE2ES N7
4,500,000 « 1Al 4,500
HALEE A8 Y ASAIEE2E M2
4,000,000 « 1Al 4,000
HAEZe ARHFISE L JIEEAMFLY
5,800,000 =14l 5,800
Ol HAIZeE JIHAIEE2E M2
2,000,000 =14l 2,000
Ol HAI&E A8 L HASAIEEE NHMF
el 1,500, 000 x 1Al 1,500
Ol FAIEZ A2H MIIES ¥ JIet &
7 2,500,000 1Al 2,500
207 I & 20,000 0 20,000
01 A2 EHH| 20,000 0 20,000
Los MEA HE EBEIYd DA 29
20,000,000 x 1Al 20,000
401 AlEHIZL £ 0HY| 570,000 380,000 190,000
01 Al&EH| 568,200 377,480 190,720
OE A E=Z2Ab 250,000, 000& *99.28% 248,200
OFA =24 MO} g4 ZA
300,000,000& * 1Al 300,000
OANMEBEA L SSHAI ASAlA AHl 2 A
20,000,000& = 14! 20,000
03 Al 201 Y| 1,800 2,520 ANT20
OFA EX=Z2A 250,000,000 *0.72% 1,800
405 XHAHF S HI 2,500 0 2,500
01 XAt 2 ZF S| 2,500 0 2,500
O ®IIA H&Il #+¢ 2,500,000 ~1CH 2,500
29 F=XEH A= 220,000 0 220,000
401 AlEHIZL 2 0HY| 220,000 0 220,000
01 Al& b 220,000 0 220,000
O8] =H FIEH dHEY
220,000,000 « 1Al 220,000
HESAAH (JHE ) 59,550 61,900 N 2,350
JI22Z 8 (MA W) 59,550 61,900 N 2,350
Jl2dH (A W) 59,550 61,900 N 2,350
201 gEt24y| 8,000 8,000 0
01 AP 22| H| 8,000 8,000 0
O3 2| 8,000
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